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The figures in the margin indicate full marks

for the questions

Answer five questions, selecting one from each Unit
UNIT—I
( Declension )
1. Decline the following : 1x10=10
(a) T in AT THTT
(b) W in THHT TEIAT
(c) FdT in gormT T
(d) FM in T8 THTEA
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(e)
0y,
(2)
(h)
(i)
G)

(2)

w1 in gt TETH
T in FAT AgEET
49 in JATAT THRAET
qTd in THHT g
3EE in TEI UHTEA
AT in T TgT

2. Decline the following :

(a)
(b)
(c)
(d)
(e)
(1)

(g
(h)
(i)

G)

T in =gt fem=a

% in T g

M in TAT TETIT

7 in 7T TZIA

T in AT TGTH
arg in T34 T
IHE in THAT THITT
() in THT TETA
(&) in AT FZTH
AT in THT TR
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(3) (4)

UNIT—II (f) 3% in @< 3rd person plural
( Conjugation ) (g) Fin @< 1st person singular
3. Conjugate the following : 1x10=10 (h) 3¢ in &% 3rd person plural
(a) ¥ in &2 1st person singular (i) 3 in @1 2nd person singular
(b) T in FTE 1st person plural (i) 3 in @ 1st person plural

(c) T3 in @2 3rd person singular

(d) %7 in &< 2nd person plural UNIT—IIl

(c) ﬁin @2 1st person dual ( Nijanta, Sananta, Yananta, Namadhatu )

() =Lin @F lst person singular 5. Give the resulting forms of the following : 1x10=10
(g) 0 in &2 3rd person singular (a) 3+ " +oc+f
(h) 79 in @ 2nd person dual (b) T+ P+ e+
(i) 42 in @12 2nd person plural (c) T+ T+
(i) ¥ in @ Ist person singular (d) T+ 8+ @cfa
4. Conjugate the following : 1x10=10 (e) T +IL+ LT
(a) ¥ in @ 3rd person singular (1) s wf
(b) M in @Z 1st person plural (g) faogfi smfa
(c) 12 in @ 2nd person singular (h) Seh Tgfa=sfa
(d) = in %2 3rd person plural (i) A SR
(¢) % in @2 2nd person singular () afr=siT ag
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(5) (6)

6. Give the resulting forms of the following : 1x10=10 8. Give the Sanskrit equivalents of the following :
1x10=10
(a) TARAN
Ornaments ; Crown ; Ear-ring; Pearl-
(b) =T+ m + fa necklace ; Ring; Garland; Necklace;
(c) T3+ IT + T Jewel-necklace ; Garland of flower;
Chain.
(d) 3T 9T T
UNIT—V
(e) =3
(f)  Ffcaa dref 9. Give the English equivalents of the following :
. 1x10=10
(g) e il .
. qudq ; T ; @O ;  TRCH ;T
(h) T I F Tesfe HATERET: 5 T ; F-8haaoT: ; 30 ; 4 |
(i) (]
10. Define any four of the following : 2%x4=10
() AT gfEsia
A 5 AT ; I 5 WA ;40 5 SRR
T |
UNIT—IV
( Sanskrit Equivalent ) * Kk ok

7. Give the Sanskrit equivalents of the following :
1x10=10

Man ; Principal ; Leader ; Uncle ;
Servant ; Student; Mother; Father;

Niece ; Maternal uncle.
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